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CTET Paper 1 – 23 December (Memory Based)  
 

CTET Paper 2 : CDP 
 

Q1. In constructivism according to piaget, education is  

 Ans: Child centered 

 

Q2. Which statement is related to the theory of Vygotsky? 

So. Culture and Language play a significant role in development of a child 

 

Q3. Who describes the child as a moral philosopher? 

 Ans: Kohlberg 

 

Q4. Kohlberg’s idea of moral development has 

 Ans: Three levels 

 

Q5. People of this intelligence can talk to anyone,anywhere, at any time 

 Ans: Interpersonal intelligence 

 

Q6. Dysgraphia is 

 Ans: The inability to write coherently.  

 

Q7. Father of Heredity 

 Ans: John Gregor Mendel 

 

Q8. A divergent question  has 

 Ans: Many answers 

 

Q9. Pre operational stage belongs to  

 Ans: 2-7 years 
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CTET Paper 2 :  Mathematics 
 

Q1. length of a rectangle = 13 cm and breadth = 11 cm, then find its Perimeter 

 Ans: 48 cm 

 

Q2. If there are 2 notes of 100/-, 10 notes of 10/-, 77 coins of 1/- and 129 coins of 50 paise, then how 

much is the total amount? 

 Ans: 200 + 100 + 77 + 64.5 = 441.5 

 

Q3. Two packets of tea contains 2
3

4
  kg and 3

1

4
 kg respectively, how many packets will be made by 

combining the two packets, so that each packet is 1/8 kg? 

 Ans: 48 packets 

 

Q4. What is the level – 4 of Van Hiele Theory? 

 Ans: Rigor 

 

Q5. A car covers half of its journy with a speed of 60m/s and the other half with a speed of 40m/s, 

then average speed during whole journey is?? 

 Ans: 48 m/s 

 

Q6. The number 87069 rounded off to the nearest ten is? 

 Ans: 87070 

 

CTET Paper 2 :  EVS 

 

Q1. Which crop is grown in the Indian state Jharkhand? 

 Ans: Paddy, maize, pulses, sunflower, groundnut and fruits are main agriculture produce in 

Jharkhand 

 

Q2. Madhubani is a district in the Indian state- 

 Ans: Bihar 

 

Q3. Which is a National Park of Uttarakhand? 

 Ans: Jim Corbett National Park 

 

Q4. Pea in India came from 

 Ans: Europe 

 

Q5. Which one is a sub-theme of EVS? 

 Ans: Work and Play 
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Q6. Match the items with their correct option. 

 Ans: Banana flower – Kerala 

 Sahjan flower – Maharashtra 

 Kachnar – Uttar Pradesh 

 

Q7. Jhoom cultivation is also known as 

 Ans: Slash and Burn cultivation 

 

Q8. How many points does a Braille script has ? 

 Ans: 6 points 

 

Q9. Which of the following came to India from Africa? 

 Ans: Okra & Coffee bean 

 

Q10. What will be the direction of travel from Lucknow to Ranchi and from Ranchi to Bhubaneswar? 

 Ans: South-East and then South  
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